BID SUMMARY November 21, 2011

1. No. CC112111-02.1 - High Nitrate Content Hay Bales (Opened on November 15, 2011)

ADVERTISING AUTHORITY

ENGINEER'S ESTIMATE

N/A

Base Bid \$10,602.00

1. Triple T Ranch

na* Cashier's Check, Money Order or Bank Draft Submitted na** Bid Bond Submitted

2. No. CC112111-02.2 – 2011 Fire Hydrant Installation Annual Project, Project No. PW11-1952/CIP No. 50808 (Opened on November 15, 2011)

ADVERTISING AUTHORITY	\$40,000.00
ENGINEER'S ESTIMATE Base Bid	\$36,600.00
ENGINEER'S ESTIMATE Alt 1	\$12,500.00
ENGINEER'S ESTIMATE Alt 2	\$11,500.00
ENGINEER'S ESTIMATE Alt 3	\$12,000.00

	<u>Base Bid</u>	<u> Alt #1</u>	<u> Alt #2</u>	<u> Alt #3</u>
1. Mainline Contracting, Inc.**	\$47,956.90	\$17,427.20	\$15,333.70	\$16,019.70
2. R.C.S. Construction, Inc.**	\$33,650.60	\$11,471.35	\$9,644.65	\$10,772.65
3. Warax Excavating, Inc.**	\$29,988.43	\$10,737.03	\$10,032.86	\$10,135.83
4. Shovelhead Construction, Inc**	\$38,874.00	\$13,687.50	\$12,869.50	\$13,019.50
5. Hills Materials Company**	\$41,952.20	\$14,235.30	\$12,950.70	\$13,089.70
6. Simon Contractors of SD, Inc.**	\$66,969.90	\$23,557.40	\$21,559.70	\$22,519.70

^{*}Cashiers Check

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: November 15, 2011

PROJECT: 2011 Fire Hydrant Installation Annual Project

Project No. PW11-1952 / CIP No. 50808

RECOMMENDATION: Award Total Bid plus Alternate #1 in the amount of \$40,725.46 to Warax Excavating, Inc. at the November 21, 2011 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS	BASE BID	ALT 1	ALT 2	ALT 3
Warax Excavating, Inc.	\$29,988.43	\$10,737.03	\$10,032.86	\$10,135.83
R.C.S. Construction, Inc.	\$33,650.60	\$11,471.35	\$9,644.65	\$10,772.65
Shovelhead Construction, Inc.	\$38,874.00	\$13,687.50	\$12,869.50	\$13,019.50
Hills Materials Company	\$41,952.20	\$14,235.30	\$12,950.70	\$13,089.70
Mainline Contracting, Inc.	\$47,956.90	\$17,427.20	\$15,333.70	\$16,019.70
Simon Contractors of SD, Inc.	\$66,969.90	\$23,557.40	\$21,559.70	\$22,519.70

City staff recommends awarding this project to Warax Excavating, Inc. for a total bid amount of \$40,725.46 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	Water Expansion Fund
ADVERTISING AUTHORITY	\$40,000.00	\$40,000.00
ENGINEER'S ESTIMATE BASE BID	\$36,600.00	\$36,600.00
ENGINEER'S ESTIMATE ALTERNATE 1	\$12,500.00	\$12,500.00
ENGINEER'S ESTIMATE ALTERNATE 2	\$11,500.00	\$11,500.00
ENGINEER'S ESTIMATE ALTERNATE 3	\$12,000.00	\$12,000.00

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	water Expansion Fund
COST CENTER		0934
LINE ITEM		4381
FUNDING CENTER		0602
BID AMOUNT	\$40,725.46	\$40,725.46

PROJECT MANAGER:

DATE: 11 17 11

PROJECT NAME: 2011 FIRE HYDRANT INSTALLATION ANNUAL PROJECT

PROJECT NUMBER: PROJECT NO. PW11-1952 / CIP NO. 50808

LET DATE: NOVEMBER 15, 2011

LOW BID AMOUNT: \$29,988.43

			ENGINEER'S	S ESTIMATE	WARAX EXCAVATING INC		RCS CONSTUCTION INC		SHOVELHEAD CONSTRUCTION INC		HILLS MATERIALS COMPANY		MAINLINE CONTRACTING INC		SIMON CONTRACTORS OF SD INC		
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	BASE BID																
1	MOBILIZATION	LS	1.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,050.00	\$1,050.00	\$1,500.00	\$1,500.00	\$1,950.00	\$1,950.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00
2	INCIDENTAL WORK	LS	1.00	\$1,455.50	\$1,455.50	\$2,375.00	\$2,375.00	\$1,945.00	\$1,945.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$3,250.00	\$3,250.00
3	REMOVE ASPHALT PAVEMENT	SY	29.30	\$10.00	\$293.00	\$9.21	\$269.85	\$5.00	\$146.50	\$30.00	\$879.00	\$27.00	\$791.10	\$8.00	\$234.40	\$38.00	\$1,113.40
4	REMOVE CONCRETE CURB & GUTTER	LF	30.00	\$10.00	\$300.00	\$8.50	\$255.00	\$5.00	\$150.00	\$10.00	\$300.00	\$18.00	\$540.00	\$3.00	\$90.00	\$25.00	\$750.00
5	REMOVE PCC SIDEWALK	SF	35.00	\$2.50	\$87.50	\$5.50	\$192.50	\$4.00	\$140.00	\$6.00	\$210.00	\$3.30	\$115.50	\$1.00	\$35.00	\$7.00	\$245.00
6	SODDING AND FERTILIZING	SY	15.80	\$30.00	\$474.00	\$8.85	\$139.83	\$4.50	\$71.10	\$75.00	\$1,185.00	\$12.00	\$189.60	\$65.00	\$1,027.00	\$155.00	\$2,449.00
7	TYPE I BEDDING MATERIAL	TON	6.00	\$30.00	\$180.00	\$17.00	\$102.00	\$20.00	\$120.00	\$25.00	\$150.00	\$26.00	\$156.00	\$13.00	\$78.00	\$65.00	\$390.00
8	TYPE III BEDDING MATERIAL	TON	3.00	\$30.00	\$90.00	\$30.00	\$90.00	\$23.00	\$69.00	\$45.00	\$ 135.00	\$40.00	\$120.00	\$13.00	\$39.00	\$65.00	\$195.00
9	6" PVC WATERMAIN C-900, CLASS 150	LF	30.00	\$50.00	\$1,500.00	\$25.00	\$750.00	\$54.00	\$1,620.00	\$40.00	\$1,200.00	\$45.00	\$1,350.00	\$50.00	\$1,500.00	\$100.00	\$3,000.00
10	6" X 6" X 6" TAPPING TEE	ĒΑ	3.00	\$3,000.00	\$9,000.00	\$2,210.00	\$6,630.00	\$2,015.00	\$6,045.00	\$3,000.00	\$9;000.00	\$3,800.00	\$11,400.00	\$4,850.00	\$14, 550.00	\$2,500.00	\$7,500.00
11	FIRE HYDRANT WO/AUX VALVE	EΑ	3.00	\$4,500.00	\$13,500.00	\$3,650.00	\$10,950.00	\$3,400.00	\$10,200.00	\$4,000.00	\$12,000.00	\$3,500.00	\$10,500.00	\$5,100.00	\$15,300.00	\$5,300.00	\$15,900.00
12	FIRE HYDRANT EXTENSION, 6"	EA	3.00	\$500.00	\$1,500.00	\$516.00	\$1,548.00	\$530.00	\$1,590.00	\$350.00	\$1,050.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00	\$850.00	\$2,550.00
13	CATHODIC CONTROL ANODE, 18 LB - ZINC	EA	6.00	\$250.00	\$1,500.00	\$196.00	\$1,176.00	\$255.00	\$1,530.00	\$400.00	\$2,400.00	\$200.00	\$1,200.00	\$200.00	\$1,200.00	\$1,950.00	\$11,700.00
14	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$500.00	\$500.00	\$380.00	\$380.00	\$1,067.00	\$1,067.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$350.00	\$350.00	\$1,150.00	\$1,150.00
15	AGGREGATE BASE COURSE 1*	TON	8.50	\$30.00	\$255.00	\$18.00	\$153.00	\$21.00	\$178.50	\$30.00	\$255.00	\$100.00	\$850.00	\$45.00	\$382.50	\$102.00	\$867.00
16	ASPHALT CONCRETE PATCH, CLASS G, TYPE 1, PG 64-22 or 58-28	TON	8.30	\$250.00	\$2,075.00	\$220.00	\$1,826.00	\$600.00	\$4,980.00	\$200.00	\$1,660.00	\$300.00	\$2,490.00	\$370.00	\$3,071.00	\$355.00	\$2,946.50
17	CONCRETE CURB & GUTTER, TYPE B6-6	LF	30.00	\$50.00	\$1,500.00	\$27.00	\$810.00	\$16.00		\$50.00	\$1,500.00	\$45.00	\$1,350.00	\$40.00		\$43.50	\$1,305.00

18	CONCRETE SIDEWALK, 4" NONREINFORCED	SF	35.00	\$7.00	\$245.00	\$6.75	\$236.25	\$6.50	\$227.50	\$10.00	\$350.00	\$20.00	\$700.00	\$10.00	\$350.00	\$11.40	\$399.00
19	LANDSCAPE ROCK, MATCH EXISITING	TON	1.00	\$30.00	\$30.00	\$50.00	\$50.00	\$16.00	\$16.00	\$100.00	\$100.00	\$350.00	\$350.00	\$150.00	\$150.00	\$160.00	\$160.00
	TRAFFIC CONTROL	LS	1.00	\$750.00	\$750.00	\$555.00	\$555.00	\$2,025.00	\$2,025.00	\$1,400.00	\$1,400.00	\$1,200.00	\$1,200.00	\$1,350.00	\$1,350.00	\$3,100.00	\$3,100.00
20		Lrs	1.00	\$750.00		***********	\$29,988.43	\$2,025.00		***************************************	\$1,400.00 \$38,874.00		\$1,200.00	***************************************	\$47,956.90	***************************************	\$66,969.90
	Total Base Bid Alternate NO. 1 West Omaha St. & National St. (N.E. Quadrant)			***************************************	\$36,735.00		\$29,900.43	**********	\$33,650.60	***************************************	\$50,074.00	***********	\$41,952.20	***********	\$47,956.90	***************************************	00,909.90
															-		
Alt 1 - 1	INCIDENTAL WORK	LS	1.00	\$517.00	\$517.00	\$1,125.00	\$1,125.00	\$755.00	\$755.00	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$2,500.00	\$2,500.00	\$1,520.00	\$1,520.00
Alt 1 - 2	**REMOVE ASPHALT PAVEMENT	SY	8.90	\$10.00	\$89.00	\$9.21	\$87.97	\$5.00	\$44.50	\$30.00	\$267.00	\$27.00	\$240.30	\$8.00	\$71.20	\$38.00	\$338.20
Alt 1 - 3	**REMOVE CURB AND GUTTER	LF	10.00	\$10.00	\$100.00	\$8.50	\$85.00	\$5.00	\$50.00	\$10.00	\$100.00	\$18.00	\$180.00	\$3.00	\$30.00	\$25.00	\$250.00
Alt 1 ~ 4	**REMOVE PCC SIDEWALK	SF	53.00	\$3.00	\$159.00	\$5.50	\$291.50	\$4.00	\$212.00	\$6.00	\$318.00	\$3.30	\$174.90	\$1.00	\$53.00	\$7.00	\$371.00
Alt 1 - 5	**SODDING AND FERTILIZING	SY	9.30	\$30.00	\$279.00	\$8.85	\$82.31	\$4.50	\$41.85	\$75.00	\$697.50	\$12.00	\$111.60	\$65.00	\$604.50	\$155.00	\$1,441.50
Alt 1 - 6	**TYPE I BEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$17.00	\$17.00	\$20.00	\$20.00	\$25.00	\$25.00	\$26.00	\$26.00	\$13.00	\$13.00	\$65.00	\$65.00
Alt 1 - 7	**TYPE III BEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$30.00	\$30.00	\$23.00	\$23.00	\$45.00	\$45.00	\$40.00	\$40.00	\$ 13.00	\$13.00	\$65.00	\$65.00
Alt 18	**6" PVC WATERMAIN	LF	14.50	\$50.00	\$725.00	\$25.00	\$362.50	\$54.00	\$783.00	\$40.00	\$580.00	\$45.00	\$652.50	\$50.00	\$725.00	\$100.00	\$1,450.00
Alt 1 - 9	**6" X 6" X 6"TAPPING TEE & VALVE	EA	1.00	\$3,000.00	\$3,000.00	\$2,210.00	\$2,210.00	\$2,015.00	\$2,015.00	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00	\$4,850.00	\$4,850.00	\$2,500.00	\$2,500.00
Ait 1 - 10	**FIRE HYDRANT WO/AUX VALVE	ΕA	1.00	\$4,500.00	\$4,500.00	\$3,650.00	\$3,650.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$5,100.00	\$5,100.00	\$5,300.00	\$5,300.00
Alt 1 - 11	**FIRE HYDRANT EXTENSION, 6"	EA	1.00	\$500.00	\$500.00	\$516.00	\$516.00	\$530.00	\$530.00	\$350.00	\$350.00	\$500.00	\$500.00	\$350.00	\$350.00	\$850.00	\$850.00
Alt 1 - 12	**CATHODIC CONTROL ANODE, 18 LB - ZINC	EA	2.00	\$250.00	\$500.00	\$196.00	\$392.00	\$255.00	\$510.00	\$400.00	\$800.00	\$200.00	\$400.00	\$200.00	\$400.00	\$1,950.00	\$3,900.00
Alt 1 - 13	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$250.00	\$250.00	\$380.00	\$380.00	\$355.00	\$355.00	\$600.00	\$600.00	\$400.00	\$400.00	\$200.00	\$200.00	\$325.00	\$325.00
Alt 1 - 14	**AGGREGATE BASE COURSE 1*	TON	2.50	\$30.00	\$75.00	\$18.00	\$45.00	\$21.00	\$52.50	\$30.00	\$75.00	\$100.00	\$250.00	\$45.00	\$112.50	\$102.00	\$255.00
Alt 1 - 15	**ASPHALT CONCRETE PATCH, CLASS G, TYPE 1, PG 64-22 or 58-28	TON	2.50	\$250.00	\$625.00	\$220.00	\$550.00	\$600.00	\$1,500.00	\$200.00	\$500.00	\$300.00	\$750.00	\$370.00	\$925.00	\$355.00	\$887.50
Alt 1 - 16	**CURB AND GUTTER B66	LF	10.00	\$50,00	\$500,00	\$27.00	\$270.00	\$16,00	\$160.00	\$50.00	\$500.00	\$45.00	\$450.00	\$40.00	\$400.00	\$43.50	\$435.00
Alt 1 - 17	**CONCRETE SIDEWALK, 4" NONREINFORCED	SF	53.00	\$7.00	\$371.00	\$6.75	\$357.75	\$6.50	\$344.50	\$10.00	\$530.00	\$20.00	\$1,060.00	\$10.00	\$530.00	\$11.40	\$604.20
Alt 1 - 18	TRAFFIC CONTROL	LS	1.00	\$250.00	\$250.00	\$285.00	\$285.00	\$675.00	\$675.00	\$800.00	\$800.00	\$400.00	\$400.00	\$550.00	\$550.00	\$3,000.00	\$3,000.00

	Total Alternate No.			\$12,500.00		\$10,737.03		\$11,471.35		\$13,687.50		\$14,235.30		\$17,427.20		\$23,557.40	
	Alternate NO. 2 West Omaha St. & Vale St. (N.E. Quadrant)		1				····										
Alt 2 - 1	INCIDENTAL WORK	LS	1.00	\$500.00	\$500.00	\$1,125.00	\$1,125.00	\$502.00	\$502.00	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
Alt 2 - 2	**REMOVE ASPHALT PAVEMENT	SY	3.40	\$10.00	\$34.00	\$9.21	\$31.31	\$5.00	\$17.00	\$30.00	\$102.00	\$27.00	\$91.80	\$8.00	\$27.20	\$38.00	\$129.20
Alt 2 - 3	**REMOVE CURB AND GUTTER	LF	10.00	\$10.00	\$100.00	\$8.50	\$85.00	\$5.00	\$50.00	\$10.00	\$100.00	\$18.00	\$180.00	\$3.00	\$30.00	\$25.00	\$250.00
Alt 2 - 4	**REMOVE PCC SIDEWALK	SF	50.00	\$2.50	\$125.00	\$5.50	\$275.00	\$4.00	\$200.00	\$6.00	\$300.00	\$3.30	\$165.00	\$1.00	\$50.00	\$7.00	\$350.00
Alt 2 - 5	**SODDING AND FERTILIZING	SY	11.70	\$30.00	\$351.00	\$8.85	\$103.55	\$4.50	\$52.65	\$75.00	\$877.50	\$12.00	\$140.40	\$65.00	\$ 760.50	\$155.00	\$1,813.50
Alt 2 - 6	**TYPE I BEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$17.00	\$17.00	\$20.00	\$20.00	\$25.00	\$25.00	\$26.00	\$26.00	\$13.00	\$13.00	\$65.00	\$65.00
Alt 2 - 7	**TYPE III BEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$30.00	\$30.00	\$23.00	\$23.00	\$45.00	\$45.00	\$40.00	\$40.00	\$13.00	\$13.00	\$65.00	\$65.00
Alt 2 - 8	**6" PVC WATERMAIN	LF	3.50	\$50.00	\$175.00	\$25.00	\$87.50	\$54.00	\$189.00	\$40.00	\$140.00	\$45.00	\$157.50	\$50.00	\$175.00	\$100.00	\$350.00
Alt 2 - 9	**6" X 6" X 6"TAPPING TEE & VALVE	EA	1.00	\$3,000.00	\$3,000.00	\$2,210.00	\$2,210.00	\$2,015.00	\$2,015.00	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00	\$4,850.00	\$4,850.00	\$2,500.00	\$2,500.00
Alt 2 - 10	**FIRE HYDRANT WO/AUX VALVE	ËA	1.00	\$4,500.00	\$4,500.00	\$3,650.00	\$3,650.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$5,100.00	\$5,100.00	\$5,300.00	\$5,300.00
Alt 2 - 11	**FIRE HYDRANT EXTENSION, 6"	EA	1.00	\$500.00	\$500.00	\$516.00	\$516.00	\$530.00	\$530.00	\$350.00	\$350.00	\$500.00	\$500.00	\$350.00	\$350.00	\$850.00	\$850.00
Alt 2 - 12	**CATHODIC CONTROL ANODE, 18 LB - ZINC	EA	2.00	\$250.00	\$500.00	\$196.00	\$392.00	\$255.00	\$510.00	\$400.00	\$800.00	\$200.00	\$400. 0 0	\$200.00	\$400.00	\$1,950.00	\$3,900.00
Alt 2 - 13	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$250.00	\$250.00	\$380.00	\$380.00	\$355.00	\$355.00	\$600.00	\$600.00	\$400.00	\$400.00	\$200.00	\$200.00	\$325.00	\$325.00
Alt 2 - 14	**AGGREGATE BASE COURSE 1"	TON	1.00	\$30.00	\$30.00	\$18.00	\$18.00	\$21.00	\$21.00 _.	\$30.00	\$30.00	\$100.00	\$100.00	\$45.00	\$45.00	\$102.00	\$102.00
Alt 2 - 15	**ASPHALT CONCRETE PATCH, CLASS G, TYPE 1, PG 64-22 or 58-28	TON	1.00	\$250.00	\$250.00	\$220.00	\$220.00	\$600.00	\$600.00	\$200.00	\$200.00	\$300.00	\$300.00	\$370.00	\$370.00	\$355.00	\$355.00
Alt 2 - 16	**CURB AND GUTTER B66	LF	10.00	\$50.00	\$500.00	\$27.00	\$270.00	\$16.00	\$160.00	\$50.00	\$500.00	\$45.00	\$450.00	\$40.00	\$400.00	\$43.50	\$435.00
Alt 2 - 17	**CONCRETE SIDEWALK, 4" NONREINFORCED	SF	50.00	\$7.50	\$375.00	\$6.75	\$337.50	\$6.50	\$325.00	\$10.00	\$500.00	\$20.00	\$1,000.00	\$10.00	\$500.00	\$11.40	\$570.00
Alt 2 - 18	TRAFFIC CONTROL	LS	1.00	\$250.00	\$250.00	\$285.00	\$285.00	\$675.00	\$675.00	\$800.00	\$800.00	\$400.00	\$400.00	\$550.00	\$550.00	\$3,000.00	\$3,000.00
	Total Alternate No.	2			\$11,500.00		\$10,032.86		\$9,644.65		\$12,869.50		\$12,950.70		\$15,333.70		\$21,559.70
	Alternate NO. 3 West Omaha St. & Sturgis St. (S.E. Quadrant)																

Alt 3 - 1	INCIDENTAL WORK	LS	1.00	\$720.00	\$720.00	\$1,125.00	\$1,125.00	\$500.00	\$500.00	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
Alt 3 - 2	**REMOVE ASPHALT PAVEMENT	SY	10.40	\$10.00	\$104.00	\$9.21	\$95.78	\$5.00	\$52.00	\$30.00	\$312.00	\$27.00	\$280.80	\$8.00	\$83.20	\$38.00	\$395.20
Alt 3 - 3	**REMOVE CURB AND GUTTER	L,F	10.00	\$10.00	\$100.00	\$8.50	\$85.00	\$5.00	\$50.00	\$10.00	\$100.00	\$18.00	\$180.00	\$3.00	\$30.00	\$25.00	\$250.00
Alt 3 - 4	**SODDING AND FERTILIZING	SY	11.70	\$30.00	\$351.00	\$8.85	\$103.55	\$4.50	\$52.65	\$75.00	\$877.50	\$12.00	\$140.40	\$65.00	\$760.50	\$155.00	\$1,813.5 0
Alt 3 - 5	**TYPE LBEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$17.00	\$17.00	\$20.00	\$20.00	\$25.00	\$25.00	\$26.00	\$26.00	\$13.00	\$13.00	\$65.00	\$65.00
Alt 3 - 6	**TYPE III BEDDING MATERIAL	TON	1.00	\$30.00	\$30.00	\$30.00	\$30.00	\$23.00	\$23.00	\$45.00	\$45.00	\$40.00	\$40.00	\$13.00	\$13.00	\$65.00	\$65.00
Alt 3 - 7	**6" PVC WATERMAIN	LF	10.50	\$50.00	\$525.00	\$25.00	\$262.50	\$54.00	\$567.00	\$40.00	\$420.00	\$45.00	\$472.50	\$50.00	\$525.00	\$100.00	\$1,050.00
Alt 3 - 8	**6" X 6" X 6"TAPPING TEE & VALVE	EA	1.00	\$3,000.00	\$3,000.00	\$2,210.00	\$2,210.00	\$2,015.00	\$2,015.00	\$3,000.00	\$3,000.00	\$3,800.00	\$3,800.00	\$4,850.00	\$4,850.00	\$2,500.00	\$2,500.00
Alt 3 - 9	**FIRE HYDRANT WO/AUX VALVE	EA	1.00	\$4,500.00	\$4,500.00	\$3,650.00	\$3,650.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$5,100.00	\$5,100.00	\$5,300.00	\$5,300.00
Alf 3 - 10	**FIRE HYDRANT EXTENSION, 6"	EA	1.00	\$500.00	\$500.00	\$516.00	\$516.00	\$530,00	\$530.00	\$350.00	\$350.00	\$500.00	\$500.00	\$350.00	\$350.00	\$850.00	\$850.00
Alt 3 - 11	**CATHODIC CONTROL ANODE, 18 LB -	EA	2.00	\$250.00	\$500.00	\$196.00	\$392.00	\$255.00	\$510.00	\$400.00	\$800.00	\$200.00	\$400.00	\$200.00	\$400.00	\$1,950.00	\$3,900.00
	EROSION AND WATER POLLUTION CONTROL	LS	1.00	\$250.00	\$250.00	\$380.00	\$380.00	\$355.00	\$355,00	\$600.00	\$600.00	\$400.00	\$400.00	\$200.00	\$200.00	\$325.00	\$325.00
	**AGGREGATE BASE COURSE 1*	TON	3.00	\$30.00	\$90,00	\$18.00	\$54.00	\$21.00	\$63.00	\$30.00	\$90.00	\$100.00	\$300.00	\$45.00	\$135.00	\$102.00	\$306.00
	**ASPHALT CONCRETE PATCH, CLASS G. TYPE 1. PG 64-22 or 58-28	TON	3.00	\$250.00	\$750.00	\$220.00	\$660.00	\$600.00	\$1,800.00	\$200.00	\$600.00	\$300.00	\$900.00	\$370.00	\$1,110.00	\$355.00	\$1,065.00
	**CURB AND GUTTER B66	LF	10.00	\$30.00	\$300.00	\$27.00	\$270.00	\$16.00	\$160.00	\$50.00	\$500.00	\$45.00	\$450.00	\$40.00	\$400.00	\$43.50	\$435.00
				\$250.00	\$250.00	\$285.00	\$270.00	\$16.00 \$675.00	\$675.00	\$800.00	\$800.00	\$400.00	\$400.00	\$550.00	\$550.00	\$3,000.00	\$3,000.00
All 3 - 10	Total Alternate No. 3				\$250.00 \$12,000.00	\$255.00	\$285.00 \$10,135.83	30/3.00	\$675.00 \$10,772.65	\$600,00	\$800.00 \$13,019.50	5400.00	\$400.00 \$13,089.70	\$50,00	\$550.00 \$16,019.70	\$3,000.00	\$22,519.70

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Rodell Grosz Date

Project Manager